Part List [S33 Unit:inch
No| Picture Specification Qty ' 5 3
A Screw @3*1/2" 96 ~ %
B Screw &3*5/8" 3 .. g |
C Screw @4*5/8" 4 = N 3
D Screw @4*1 3/1¢"| 18 » Leftt | o
Left o\ & Right Face s
E Corner Bracket S Door 1 Door Frame
F Metal Clip 19
G Shelf Clip g | | * > .
A 165° Hinges 2 | . )
I Cross Hinges 2 _ 3 3
J Bumper 4 Right 1
Face 70 Left Face 3% - Right Face
Frame Y Side Panel Side Panel
7 8 9 10
—
Left Back 5 W Right Back W Bottom
Side Panel Side Panel Back Panel Panel
12 13 14
EN
;3/30»,,
Left Right
Toe Kick Toe Kick Shelf




Assembly instructions

No[ Specification [Qty[No| Picture| Specification |Qty
A Screw @3*1/2" 96| F| & | CornerBracket | 19
B | Screw @33*5/8" 8 |G IS 4 Shelf Clip 3
C IS Screw 4*5/8" 4 |H| " |165° Hinges 2
D Screw @4*1 3/16'1 18] 1 i Cross Hinges ?
E Corner Bracket 4 | J =] 4

step D

pagel of 2
[LS33 LS36




G "’ (X |
o step
JEQS
| . e H V > % I
step 11 R
C
page2 of 2 h
LS33 LS36




